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Set0l Answers for No.9790
areal = {1,5,11}

area2 = {7} n(4 N B)=1  n(4uU B)=8

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 v B))=3
“rjfja; iz{ 43” 86,’ 91;) } n(B-A)=4 Math@MUT
areal = {10, 14} n(4 A B)=2  n(4 U B)=5
Ans2=| 1= “2253:_{{2;7}} 2= n(4-B)=2 n(U-(4 U B))=8
aread = {3,5,6,8,9, 11,12, 13} n(B-4)=1 Math@MUT
T areal = { } i 1
area? = {8,12} n(intersect(4, B, C))=0 n(d-B)=1
area3 ={ } n(union(4, B, C)) =38 n(B-4)=3
nsi<| 12 aread = {0} e n(4d N B)=2 n(C N (4uv B))=4
area’ = { } i n(B N C)=3 n(Cu (4 nB))=8
areab = {4,5,9} n(d v C)=8 n(intersect(4, B, C)) = 14
area7 ={1,10} n(B U C)=8 Math@MUT
L Larea8 = {2,3,6,7,11,13 }] ]
4w B={2,3,6,7,8911,12,13} 1 [ 1=(A v B={areal, area2, area3})
A0 B=12,8 11} 2=(B'~4'={areal })
4 B=1{23,4,5,6,81011} 3=((4 n B)'= {areal, area3, area4})
B ﬁA'={7,9, 12,13} A4=(4 N B={area2, area’ })
Ans4 = A4-B={3,6} , AnsS = S5=(C n (4 v B)={aread, area’, areab })
B—4A= {4,5,10} 6=((4 N C) v (B n C)={aread, area’, areat })
(4 U B)=1{4,510} 7=((B-4) n (B-C)={area3})
A N B={45,10} 8=(A N B ={area7, area8})
_(A—B)':{2,4, 5,7,8,9,10, 11, 12,13} | L .9:((A—C)'—B:{area4, area7, area8}) ]
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Set0l Answers for No.9888

areal = {3,10, 11}

area2 = {9} n(4 N B)=1  n(4uU B)=8

Ansl=| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=4
area3 =1{2,6,7,12} _
oot — 1458131 n(B-A)=4 Math@MUT
areal zz{j"{i’ 1141’}16} n(d N B)=2  n(duU B)=9
Ans2=| 1= areas =13, ,2=| n(4-B)=4 n(U-(4 U B))=6

area3 =1{6,9,12}

aread = {5,7,10, 13, 15,17} n(B-4)=3 Math@MUT
[ [ areal = {7} i i
area = { } n(intersect(4, B, C)) =1 n(4-B)=3
area3 ={3,9} n(union(4, B, C)) =10 n(B-4)=2
ansi<| 12 aread = {4, 16} . n(4d N B)=1 n(C N (4 U B))=3
' area5= {17} S nB N C)=1 n(Cu (4N B)=7
areab = { } n(4d v C)=8 n(intersect(4, B, C)) =16
area7 ={1,5,11, 14} n(B v C)=9 Math@MUT
L Larea8 = {2, 6,8,10, 12,13, 15} ] ]
4 v B={1,2,3,51738,9,10,11,13, 14} i A =(A4 v B={areal, area2, area3})
A0 B={11,13} 2=(A-B={areal})
4v B=1{1,3,46,78,11,12,13} 3=((4 n B)'z {areal, area3, area4})
BN A=1{250910,14} 4=(A4 N B={area2,area5})
Ans4 = A-B={1,3,7,8} , Ans5 = S5=(4 n (B U C)={area2, aread, areas})
B-A= {4,6,12} 6=((4 N B) U (4 n C)={area2, aread, area5 })
(4 U B)=1{4,6,12} 7=((B-4) n (B-C)={area3})
A N B = {4,6,12} .8:(B,—A,= {areal, aread})
L(A-B)=1{2,4,5,6,9,10, 11, 12, 13, 14 ] L .9=(B n (C-4A) = {area2, area3, area5}) |
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Set0l Answers for No.9926
areal = {0,6,9}
areal = {5}

Anst=| 1= area3 ={2,10}
area4 = {1,3,4,7,8, 11,
areal = {1,5,8,9}
area? = {0,3,10}
Ans2 =| .1 = area3 =1{ }
aread =1{2,4,6,7}
[ [areal = {2, 4,13, 14} ]
areal = { }
aread ={1,12}
aread ={ }
Ans3 =| .1 = areas = 1{ } , .2 =
area6 = {6, 8,16}
area7 = {10, 11,15}
L L area8=1{3,5,7,9} |
AU B=1{1,3,528,91012} ]
A N B={10,12}
AU B'=1{23,45,6,7,9,10, 11,12}
B A={18}
Ans4 = A-B={3,5,9} , AnsS =

B -A=1{2,4,6,7,11}
(4 U B)=1{2,4,6,7,11}
A N B={2,46711}
L (4-B)=1{1,2,4,6,7,8,10, 11,12} |

[Page 0003]

n(4 N B)=1 n(4d U B)=6
,.2=| n(4-B)=3 n(U-(4 v B))=7
n(B-4)=2 Math@MUT
12}
n(4 N B)=3 n(4 v B)=7
,.2=| n(4-B)=4 n(U-(4 v B))=4
n(B-4)=0 Math@MUT
n(intersect(4, B, C)) =0 n(4-B)=4
n(union(4, B, C)) =12 n(B-A4)=5

n(4 N B)=0 n(C N ((4vB))=3
nB N C)=3 n(C U (4N B))=6
n(4 v C)=10 n(intersect(A4, B, C)') =16
n(B U C)=8 Math@MUT

A=(4 v B={areal, area2, area3})
2=(B—-A4A={area3})
3=((A=-B) A (B-A)=1 })
4=(4 v C={areal, area2, area4, areal, areab, area?7})
S=(4 v (B n C)={areal, areal, area4, area5, area6 })
6=((4 v B) n (4 v C)={areal, area, area4, area5, areab })
7=((A4-B) U (A-C)={areal, area2, aread})
8= (B' U C= {areal, area2, area3, area4, area7, areas })
9= (Cv N (B—A)rz {areal, area2, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



DGRV ERRNCIVIVEND’0:9:6:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | : WA EX Y X N NO N 01 JO [0 X/579:¢
Set0l Answers for No.9929
areal = {12, 13}

area2 ={5,11} n(4 N B)=2 n(d U B)=8

Ansl=| .1 = ,.2=| n(4-B)=2 n(U-(4 U B))=3
area3 =1{4,8,9,10} _
wread— 16,714} n(B-A)=4 Math@MUT
areal = {7}911{0634’ 163 ndnB)=1 n(4uUB)=9
Ans2=| 1= areaz= 2= n(4-B)=5 n(U-(4 U B))=5

area3 ={8,13,15}

aread = {3, 4,5, 11,12} n(B-4)=3 Math@MUT
i areal = {1,3,9} ] 1
area? = {13, 15} n(intersect(A4, B, C)) =0 n(4d-B)=35
area3 = {8,12} n(union(4, B, C)) =10 n(B-—A4)=3
Ans3—| 12 aread = {5,7} . n(4 N B)=2 n(C N (4 v B))=3
areas = { } i n(B N C)=1 n(C v (4 nB))=5
area6 = {6} nd U C)=38 n(intersect(4, B, C) )= 15
area7 = { } n(Bu C)=7 Math@MUT
L Larea8 = {2,4,10, 11, 14} | i
A v B=1{1,3,4,8,10,11, 14,15} [ .I:(B':{area],area4}) i
/ 4 N B={15} 2=(4'-B = {area3})
4 v B={12 4’ 5,6,7,9,11,12, 13,15} 3=0(4 n B)/: {areal, area3, area4})
B n4={3,8,10,14} 4=(A4 U B={areal, area2, area3, aread, areal, area6 })
Ans4 = A-B={1,4,11} . Ans5 = S5=(4 n (B v C)={area2, aread, area’})
B -4= {2,5,6,7,9,12,13} O6=((4 N B) U (4 n C)={areal, aread, area5 })
(4 v B)’: {2,5,6,7,9,12,13} 7=((A4-B) U (A-C)={areal, areal, area4})
A4 N B={2,56,791213} 8=(4 n C={area3, area8})
L(A-B)'=1{2,3,5,6,7,8,9,10, 12, 13, 14, 15} | L 9=(4 N (B-C) = {areab, area’, area8}) ]
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Set0l Answers for No.10106

areal = {3,5,6,7}

area? ={ } n(4 N B)=0 n(d U B)=17

Ansl =\ .1= aread = (4,12, 15} ,.2= Egg—iii: n(UA_,[C(l;lZ@;JMf]);:6
area4 = {8,9,10, 11, 13, 14}
areal = {11,13} n(4 N B)=3  n(4 U B)=8
Ans2=| 1= “rf"i:_{fz’zilsz}} ,2=| n(4-B)=2 n(U-(4 U B))=6
areaj«ia{ojl,i, 59,10} n(B-4)=3 Math@MUT
[ i areal = {0} ] ]
area? = {2,4,8,10} n(intersect(4, B, C)) =1 n(4-B)=2
area3 ={ } n(union(4, B, C))=9 n(B-4)=0
dnsi<| 12 aread = {7} . n(d N B)=5 n(C N (4uvB)=2
area’ = {14} ’ nBnNnC)=1 n(Cu (4 nB))=8
areab = { } n(4d v C)=9 n(intersect(4, B, C) ) = 14
area7 = {5,6} n(Bu C)=8 Math@MUT
L Larea8={1,3,9,11,12, 13} ]
4w B=1{0,1,4,5,7,8,9,12,13, 14} [ A =(A v B={areal, area2, area3}) ]
, AN B={47} 2=(B-A'={area2})
A v B={2,3,456,728,9,10,11, 12,14} 3=((A4-B)n (B-4)={1})
B A=1{0,1,13} 4=(A4 U B={areal, area2, area3, aread, area5, area6} )
Ansd = A-B=1{5,8,9,12,14} . AnsS = S=(A4 n (B v C)={area, area4, area’ })
B-A= {2,3,6,10,11} 6=((4 N B) U (4 n C)={areal, aread, areal })
4 v B)': {2,3,6,10, 11} 7=((C—-4) v (C-B)={aread, areab, area7 })
A A B=12,3,610,11} 8=(C'—A4 = {areal, area2})
| (4-B)=1{0,1,2,3,4,6,7,10,11,13} | L 9=((B-C) - A= {areat, area7, areas8 } ) ]
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Set0l Answers for No.10139

areal ={7,12}
area? = {4,8,10}
area3={5,6,11} [
area4 ={2,3,9}
areal = {14, 15,17}
area2 = {10, 13}

n(4 N B)=3  n(4 U B)=8
2=| n(4-B)=2 n(U-(4 U B))=3
n(B-A)=3 Math@MUT

Ansl =| .1 =

n(d N B)=2 n(4 U B)=10

Ans2 = 1=l a3 = (4,5,7,8,16) P27 Egg_izj “(UA;LE:!@UM?T)‘S
area4d =1{3,6,9, 11,12}
i areal = {2,9} ) i
area = { } n(intersect(4, B, C)) =1 n(4A-B)=4
area3 = {5,6} n(union(4, B, C)) =11 n(B-A4)=2
nsi<| 12 aread = {4,10} 2o n(4d N B)=1 n(C N (4 v B))=3
' area5 = {14} > nBn C)=1 n(Cu (4N B)=7
areab = { } n(d4d v C)=9 n(intersect(4, B, C)) = 14
area7 ={1,3,11,12} n(B v C)=9 Math@MUT
L Larea8 ={7,8,13, 15} ]
4 v B=1{4,5,6,810,12} 1 =(B'={areal, aread})
40 B={5,6,12} 2=(4-B = {area2})
AuB:{2,§,5,6,7,9,11,12} 3=(4 N B'={aread})
B nA4={43810} 4=(B n C={area5, area6})
Ans4 = A-B={} , Ans5 = S=(C n (4 U B)={area4, area’, areab })
B —A= {2,3,7,9,11} 6=((4 N C) v (B n C)={aread, areal, areab })
(4 v B)’:{Z, 3,7,9,11} 7=((C—-4) u (C-B)={aread, areab, area7 })
A N B={23,7,911} 8= (B - C = {aread, area’})
[(A—B) =1{2,3,4,5,6,7,8,9,10,11, 12} | L 9=((B-A) — C={areal, area2, area8}) ]
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Set0l Answers for No.10226

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXXXKX XXX XXX XXX KK KKK KKK KK XX XKLL KK XX KKK XXX LXK KKK KKK XK XXX KKK XK XXX KKK XK XXX KKXKKKKKMA /2-6600101-00007XX

Ans4 =
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areal =1 } n(d N B)=3  n(duU B)=6
Ansl =| 1= Z;ﬁfi;g }ﬁ 2= n(4-B)=0 n(U-(4 U B))=5
areajz {_2, 3.4.6.10) n(B-4)=3 Math@MUT |
areal = {4,6,9,11, 14} nA ~ B)=2 n(A U B)=10
Ans2=| 1= afe’zf:{gl?bl?é} 2= n(4-B)=5 n(U-(4 U B))=5
aread = {5,812, 13,17} n(B-4)=3 Math@MuT
[ areal = {11,12} | T
area? = { } n(intersect(4, B, C)) =0 n(4-B)=4
area3 ={1,4,6,14} n(union(4, B, C)) =12 n(B-A4)=5
ansi<| 12 aread = {2,9} 5 n(4d N B)=0 n(C n (4 v B))=3
' area5=1{} > nB n C)=1 n(C U (4N B))=6
areab = {7} n(d v C)=8 n(intersect(4, B, C) )= 16
area7 = {0, 8,15} n(B u C)=10 Math@MUT
L Larea8 = {3, 5,10, 13} ]
4w B={6,7,8,9,12,13, 14} [ .1 =(A v B={areal, area2, area3 })
AN B={9.12,13} 2=(B-A'={areal})
4 v B={45,68, 9"10; 11,12,13, 14,15} .3=(A' U B'= {areal, area3, aread })
B nA={7} .4:(A,= {area3, areab, area7, area8 })
A4-B={6,8, 14} , Ans5= S=(4 v (B n C)={areal, areal, aread, areas, area6 })
B —A=1{4,510,11,15} 6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 } )
(4 v B)’: {4,5,10, 11, 15} 7=((C-4) v (C-B)={aread, areab, area7 })
A4 N B= {4,5,10,11, 15} 8= (B' U C= {areal, area2, area3, area4, area7, area8})
(A-B) =1{4,5,7,9,10, 11,12, 13, 15}

L ,9:((C—A)'—B={area],area4,area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.10356

areal :Z{f’{gé}“} (4 A B)=1  n(4 U B)=9
Ansl =| 1= arm:“g"l& 1213, 14y [ 27| MA-B)=3 n(U=(4 L B)=3
U areat= 17,815 l n(B-4)=5 Math@MUT ]
areal = {5,12,13,14,16} _n(A A B)=2 n(4 U B)=10
Ans2=| 1= ai‘erzg‘i:{ffé} L 2=| n(4-B)=5 n(U-(4 U B))=4
L | wreat=(7.10,11,153 | -nB-A=3 Math@MUT |
[ i areal = {14} ] ]
areal = {8} n(intersect(4, B, C)) =0 n(A-B)=2
area3 ={11,13,15,16} n(union(4, B, C)) =10 n(B-A)=4
s3] 12 aread = {17} S nd n B)=1 n(C N (4uU B))=1
area’ = { } i n(B N C)=0 n(C v (4 nB))=5
areab = { } n(4 v C)=6 n(intersect(4, B, C)/): 18
area7 = {3,18,19} n(Bu C)=9 Math@MUT
L Larea8 = {4,5,6,7,9,10, 12,20} i
(4 U B={3,5,6,7,8,10, 11, 12,13} ] [ 1 =(A'= {area3, aread ) i
A N B={612} 2=(B - A= {aread})
A4V B={45.6780912} 3=(4 U B = {areal, area3, aread})
B nA4={31011,13} 4= (B’: {areal, area4, area7, area8 })
Ans4 = A-B=1{5,7,8} , Ans5 = S=(B N (4 v C)={area2, area’, areab })
B-4=1{49} 6=((4 N B) U (B N C)= {area2, area5, area6})
(4 U B)=1{4,9} 7=((B-A4) N (B-C)={area3})
A N B={409} 8=(4 N C={area3, area8})
_(A—B)’={3,4,6,9,10,11,12,13}_ L .9:((A—B),—C:{areaZ,area3,area8}) i
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Set0l Answers for No.10366

00091

”rer“;_{{lf;s}} nd N B)=2  n(4 U B)=6
Ansl =| 1= “;Za;_{%} 2= n(4-B)=3 n(U-(4 U B))=6
aread = {0,4,7,8,10,11} n(B-4)=1 Math@MUT
“”;“f?;gl’gol}n n(4 N B)=3  n(duU B)=9
Ans2=| .1 = ar‘;ej”_gg 1113 14) [ 2=| 2A=B)=2 n(U-(4 U B)=5
aread = {4,5,6,12, 15} n(B-A)=4 Math@MUT ]|
[ [areal ={2,5,11,13}] T
area = { } n(intersect(4, B, C)) =2 n(4d-B)=5
area3 = {12} n(union(4, B, C)) = 11 n(B-A)=2
sl 1 aread = {8} S n(d N B)=2 n(C N (4 U B)=4
MIEIITL greas=(4,14y [CT| n(B A C)=3 n(C U (4N B)=6
areab = {1} n(4 v C)=10 n(intersect(4, B, C) )= 12
area7 ={7,10} n(Bu C)=7 Math@MUT
L area8=1{3,6,9} | J
A4 v B={3,4,6,9,12} [ 1=(4 N B={areal}) )
4N B={3,6} 2=(B-A={area3})
A VU B = {23 3’ 5’ 6’ 7> 8> 107 11’ 125 13} .3:(A' M B’: {a}"ea4})
BnA= {4,9} 4=(B v C={area2, area3, area4, areal, areab, area7 })
Ans4 = A-B={12} . Ans5 = S=(C v (A4 n B)={area2, area4, areal, areab, area?7})
6=((4 v C) n (B v C)={area2, aread, areas, areab, area7 })

B -4=1{2,57,8,10,11,13}
(4 U B)=1{2,5,7,8,10,11,13}
A N B={2573810,11,13}

7=((C—-4) n (C-B)={area7})
.8:(B,—A’= {areal, aread})

l(4—B) =1{2,3,4,5,6,7,8,9,10, 11, 13} |

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢

9=((4- B)’— C= {area5, areab, area?})
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Set0l Answers for No.10706

areal = {6, 8}
area? = {0}
area3 = {3,4,5,10} [~
aread ={1,2,7,9}
areal = {3,5,8,9,13,15}
areal = {4}

n(4d nB)=1 n(4uUB)=7
2=| n(4-B)=2 n(U-(4 U B))=4
nB-A)=4 Math@MUT

Ansl =| .1 =

nd4d nB)=1 n(4uU B)=12

Ans2 =| .1 = ,.2=| n(4-B)=6 n(U-(4 v B))=2
“re“3a‘reiz;:19{’ 61’ 11’ 41}2 16} n(B-4)=5 Math@MUT
i [ areal = {8} )
area? = { } n(intersect(4, B, C)) =2 n(4d-B)=1
area3 ={2,6,15} n(union(4, B, C)) =10 n(B-4)=3
Ansi| 12 aread = { } 2 n(4d N B)=2 n(C N (4 v B))=2
aread = {10, 17} i n(B N C)=2 n(C v (4 nB))=6
areab = { } n4d v C)=7 n(intersect(4, B, C)'): 16
area7 ={4,5,12,13} n(B v C)=9 Math@MUT
L Larea8 =1{3,7,9, 11, 14,16, 18, 19} | i
A v B=1{3,7,8,10,11,13, 15} i 1=(4 N B={area2})
/ AnB={} 2=(A-B = {area2})
AU B={2,3,45,6,7,8,9,12,14,16} 3=((A-B)n (B-A)={})
B~ A'={10,11,13,15} 4=(B n C={area5, area6})
Ansd = A-B=1{3,7,8} . Ans5 = S=(A4 n (B v C)={area, area4, area’})
B-A= {2,4,5,6,9,12, 14,16} 6=((4 N B) U (4 n C)={areal, aread, areal })
(4 U B)=1{2,4,56,9,12, 14,16} 7=((4-B) v (4-C)={areal, area2, aread })
A A B=12,4,5609,12, 14,16} -8=(C~A = {areal, area2})
L(A—B) =1{2,4,5,6,9,10, 11, 12, 13, 14, 15,16 } | L 9=(B N (4-C) ={aread, area’, area8}) |
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Set0l Answers for No.10899

areal = {3} 04N B)=2  n(duU B)=7
Ansl =| 1= area2 = {4, 7} 2= n(4-B)=1 n(U-(4 U B))=5
area3 = {6, 10, 13, 14} n(B-A)=4 Math@MUT
area4 ={5,8,9, 11,12}
areal = {2213’ ‘1"29’ 13} n(d nB)=1  n(4u B)=8
Ans2=| 1= a":;‘;:‘{{s 8}} 2= n(4-B)=5 n(U-(4 U B))=6
aread = 1{1,6,7,10, 11, 14} n(B-4)=2 Math@MuT
i [areal = {4, 8, 9}_ ]
area? = { } n(intersect(4, B, C)) =1 n(4d-B)=5
area3 = {12, 14} n(union(4, B, C)) =12 n(B-A4)=4
nsi<| 12 aread = {7,15} P n(4d N B)=1 n(C N (4 v B))=5
' area5={11} |~ n(B N C)=3 n(Cu (4 nB))=7
area6={1,10} n(4 v C)=10 n(intersect(4, B, C)/): 14
area7 = {2,13} n(Bu C)=9 Math@MUT
L Larea8 ={3,5, 6} ]
A v B=1{4,57,8,10,11, 13,14} ] [ 1=(4 N B={area2}) 7
A4 N B=1{4,10,13} 2=(A-B={areal})
4V B=1{4,69,1011,12,13} 3=((A4-B) U (B-A)={areal, area3})
B N A={5718,14} 4=(4 N B={area2, area5})
Ansd = A-B={11} . AnsS = S=(B v (4 n C)={area2, area3, area4, areal, area6 })
B—-A= {6,9,12} 6=((4 v B) n (B v C)={area2, area3, aread, areas, area6 })
(4 U B)={6,9,12} 7=((B-A4) N (B-C)={area3})
A'mB':{6,9, 12} 8=(B n C={areal,aread})
_(A—B)’={4, 5,6,7,8,9, 10,12, 13, 14} L 9=(4 n (C—B)': {areal, area2, areal }) i
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Set0l Answers for No.10907

X [Page = 0012]

areal = {4,6}
area? =1{3,9,10}

Ansl =| .1 = .

area3 ={ }
area4 ={2,5,7,8,11,12}
areal = {6, 10}
areal = {3}
area3 =1{2,4,9,12}
area4 =1{5,7,8,11,13, 14}
areal = {14,17,19} |
areal = {4}
area3 ={11,16}
area4 = {9}
aread={ }
areab = { }
area7 = {3,12, 18}
L larea8=1{5,6,7,8,10,13,15}]
(4 U B=1{3,4,5,6,7,8,10,12,13, 14} |
A N B=1{6,13,14}
AU B'=1{3,68,91011,12,13, 14}
B A={457}
A-B={3,8,10,12} i
B —A4=1{9,11}
(40U B)={9,11}
A~ B={9,11}
(A-B)=1{4,5,6,7,9,11,13,14} | L

Ans2 =\ .1=

Ans3 =| . ,.2=

Ans4 = Ans5 =

n(4d N B)=3 n(d4d v B)=5
2= n(A-B)=2 n(U-(4 v B))=6
n(B-4)=0 Math@MUT
n(4d N B)=1 n(4 v B)=7
,.2=| n(4-B)=2 n(U-(4 v B))=6
n(B-4)=4 Math@MUT
n(intersect(4, B, C)) =0 n(4-B)=4
n(union(4, B, C))=10 n(B-4)=2

n(4 N B)=1 n(C N (4 U B))=1
n(B N C)=0 n(CuU (4N B)=5
n(4 v C)=38 n(intersect(4, B, C)) =17
n(Buw C)=7 Math@MUT

A=(A N B={area?})
2=(A' - B'={area3})
3=((4 U B) ={aread})
4= (C’: {areal, area2, area3, area8 })
S=(4 v (B n C)={areal, areal, area4, areas, area6 })

6=((A4 v B) n (4 v C)={areal, areal, area4, areal, areab })

7=((B-4) v (B-C)={area2, area3, areab })
8=(A'- B = {area3, area6})
9=((A-C) - B = {area3, area5, area6})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.10951

areal ={3,7, 13} n(4 N B)=1 n(4uU B)=8
dnsl=| 1= arezgef{i{;"‘g;% 22| n(A-B)=3 n(U—(4 U B))=4
aread = 18,10, 11,12} n(B-4)=4 Math@MUT |
areal ={6,7,9} n(4 N B)=2  n(4duU B)=6
Ans2=| 1= "Zer‘e’;:_{?’lg} 2= n(4-B)=3 n(U-(4 U B))=5
aread = {4, 8,10, 11, 12} n(B-4)=1 Math@MUT
[ areal = {11} ) i
areal = {8} n(intersect(4, B, C))=0 n(4-B)=3
area3 ={3,9, 12, 14} n(union(4, B, C)) =11 n(B-A4)=6
imsi—| | areat=15.10 S n(d N B)=1 n(C (4 U B)=4
' area5=1{ } . n(B N C)=2 n(Cu (4N B))=6
area6 = {6,13} ndu C)=7 n(intersect(4, B, C)) =16
area7 = {7} n(B u C)=10 Math@MUT
L Larea8 = {1,2,4,15,16}] ]
4 B=1{1,3,56723810} 1 [ 1 =(A v B={areal, area2, area3 })
AN B={T7} 2=(B -A'={areal })
4 U B'=1{2,3,4,56,7,809,11,12} 324 A B=lareat))
B A={1,10} 4=(B n C={area5, areab })
Ans4 = A-B=1{3,5,6,8} , Ans5 = S=(C n (A4 v B)={aread, areal, area6})
B —A= {2,4,9,11,12} 6=((4 N C) v (B n C)={aread, area’, areab })
(4 U B)=1{2,4,9 11,12} 7=((A-B) N (A-C)={areal })
A N B'=1{24091112} 8=(A4' - C = {area6, area7})
L (A—B)':{1,2,4, 7,9,10, 11,12} | L .9:((B—C)’—A’:{areal,area4,area5}) J
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Set0l Answers for No.11058

areal = {4,9, 11}

areal = {2} n(4d N B)=1 n(d4d U B)=8

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=4
‘Zre:j - { {53”86” 17(3’ 1132}} n(B-A)=4 Math@MUT
areal = {9,10, 11,13} n(A ~ B)=2 nA U B)=7
Ans2=| .1 = “rjfjazfi’;f} 2=| n(4-B)=4 n(U-(4 U B))=6
aread = {5,6,7,8,12, 15} n(B-4)=1 Math@MUT
[ areal = {5, 11,13} l T
area? = { } n(intersect(4, B, C))=0 n(4A-B)=4
area3 =1{9,19} n(union(4, B, C)) =10 n(B-—A4)=3
aread = {7} n(4 N B)=0 n(C N (4 v B))=2
Ans3 =| .1 = , .2 =
area’ = { } n(B N C)=1 n(Cu (4 nB))=5
area6 = {15} n(d4d U C)=8 n(intersect(4, B, C) ) =17
area7 = {6, 8,14} n(Bu C)=7 Math@MUT
L Larea8 = {3, 4,10, 12, 16, 17, 18 } J
A v B={4,8,9,10,12,13, 16,17} [ 1= (A= {area3, aread }) 7
, A4 B={12} 2=(A4 - B'={area3})
A4 v B={4,56,7,8,9,10,11, 12,13, 14, 15, 18} 3=((A4-B) A (B=A)=1{1})
BnAs= {16, 17} 4=(A v B={areal, areal, area3, area4, area5, area6 } )
Ans4 = A4-B={4,8,9,10,13} , AnsS = S5=(C n (4 v B)={aread, areal, areab })
B-4= {5,6,7,11, 14, 15,18} 6=((4 N C) v (B n C)={aread, area’, areab })
(4 v B)': {5,6,7,11,14, 15,18} 7=((C—-4) v (C-B)={aread, areab, area7 })
A nB=1{56,711,14,15,18} 8=(C -4 ={areal, area})
L (4-B)=1{5,6,7,11,12, 14, 15, 16,17, 18} | L 9=(B N (C-4) = {areal, aread, areas8 ) J
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Set0l Answers for No.11139
areal = {9, 12}

area2= {2, 7,13} n(4 n B)=3  n(4 U B)=6

Ansl =| .1 = aread — {8 ,.2=| n(4-B)=2 n(U-(4 U B))=6
aread = {3, 4, 5,{6,}10, 1y n(B-4)=1 Math@MUT
areal = {5, 7} n(4d N B)=3  n(4du B)=8
Ans2=| 1= “re"z;_{fl’gz’ 130}} ,.2=| n(4-B)=2 n(U-(4 U B))=3
aireii :‘{4”9”11 \ n(B-A4)=3 Math@MUT
i [ areal = {9} l |
area? = { } n(intersect(4, B, C))=0 n(4d-B)=3
area3={4,6,7} n(union(4, B, C)) =11 n(B-A4)=4
ansi=| 12 aread = {10, 11} . n(4d N B)=0 n(C N (49 B))=3
area’ = { } ’ n(B nNnC)=1 n(C U (4N B))=7
areab = {18} n(4d v C)=8 n(intersect(4, B, C)) = 16
area7 ={3,5,12,17} n(B v C)=10 Math@MUT
L Larea8 = {8, 13, 14, 15, 16 } | ]
AU B=1{4,5,6,7,9,11,14,16, 18} [ 1=(B = {areal, aread ) ]
' 4 N B={14} 2=(B—A={area3})
4 v B=1{4,5,381012,13,14,15,17} 3=0(4 n B) = {areal, area3, area4 })
BnA= {6,7,9,11,16, 18 } 4= (A’: {area3, areab, area7, area8 })
Ansd = A-B={4,5} , Ans5 = S5=(C n (4 v B)={area4, area$, area6})
B -A= {8,10, 12,13, 15,17} O6=((A4 N C) U (B N C)={aread, area5, areab})
(4 U B)=1{8,10,12,13,15,17} 7=((A-B) n (A-C)={areal})
A n B'={8,10,12,13,15, 17} 8=(C - B = {area2, area3})
[(4-B) =1{6,7,8,9,10, 11, 12, 13, 14,15, 16, 17, 18 } | | 9=((B-4) -C ={aread, area5, area7}) |
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Set0l Answers for No.11142
areal = {1,7,8}

area? ={ } n(4 N B)=0 n(d v B)=7

aread = 10,3,4,5,9,10} - “
areal = {3’,10{’41}3’ 14} n(4d N B)=1 n(4 U B)=17
Ans2=| .1 = areas= L 2=| n(4-B)=4 n(U-(4 U B))=8

area3=1{7,15}

aread = {5,6,8, 11, 12,16, 17, 18} n(B-4)=2 Math@MUT
[ areal = {11,15,19} | i
area? = {3, 14} n(intersect(4, B, C))=0 n(4d-B)=4
area3 = {4,6,12} n(union(4, B, C)) =11 n(B-4)=3
ansi<| 1< aread = {8} . n(d N B)=2 n(Cn(4uB))=1
area’ = { } ’ n(B N C)=0 n(Cu (4 N B))=5
area6 = { } n(d U C)=38 n(intersect(4, B, C)) =17
area7 ={9,16} n(Bu C)=8 Math@MUT
L Larea8 = {5,7,10,13, 17, 18} | J
[ 4 U B=1{4,6,7,8,9,11,12,13,14} | [ 1=(A4'= {area3, aread ) ]
- AnB={} 2=(4'-B = {area3})
4V B=1{3, 4>’5’ 8,10, 11,13, 14,15} 3=((4 n B) = {areal, area3, area4 })
B nA4={6,7912} .4=(B’: {areal, area4, area7, area8 })
Ans4 = A-B=1{4,8,11,13, 14} , Ans5 = S5=(C U (4 n B)={area2, area4, area$5, areab, area?7 })
B'-A4={3,510,15} 6=((4 v C) n (B v C)={area2, aread, area5, areab, area?7 })
(4 v B)’: {3,5,10,15} 7=((A-B) U (A-C)={areal, area2, aread })
A N B'=(3,51015} 8=(C -4 ={areal, area2})
Ll (4-B)=1{3,5,6,7,9,10,12,15} | L 9=(B N (A-C) = {aread, area’, area8}) _
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Set0l Answers for No.11193

areal = {4,8,13,15}

areal = {7} n(d N B)=1 n(4d U B)=8

Ansl =| .1 = ,.2=| n(d-B)=4 n(U-(4 U B))=5
ar:;:cf{;é: ;?911,21}4} n(B-4)=3 Math@MUT
areal = 16,9} n(d N B)y=1  n(4du B)=7
Ans2 =| 1= areal = {12} 2= n(4-B)=2 n(U-(4 U B))=7
area3 = {4,10, 13,16 } n(B-d)=4 Math@MUT
aread = {3,5,7,8, 11, 14, 15}
[ areal = {10,14} | 1
area = { } n(intersect(4, B, C))=0 n(4A-B)=4
area3 = {0, 1,12} n(union(4, B, C)) =11 n(B-4)=5
nsi<| 12 aread = {3,6} 5 n(4d N B)=0 n(C N ((4v B))=4
' area5=1{} > n(B N C)=2 n(C U (4N B))=6
area6={2,7} n4d v C)=8 n(intersect(A4, B, C)'):15
area7 = {5, 8} n(Bu C)=9 Math@MUT
L Larea8 = {4,9, 11, 13} | ]
4 v B={5,6,10,11,13} 1 =(A = {area3, aread})
) 4N B={513} .2=(A'—B={area4})
4w B={2,345,78910,12,13,14} 3=((4-B) U (B-A4)={areal, area3})
B nA4={611} 4=(A N B={area2, area5 })
Ans4 = A-B={10} , AnsS = S=(A4 n (B v C)={area2, aread, area’ })
B—4= {2,3,4,7,8,9,12,14} 6=((4 N B) U (4 n C)={area2, aread, aread})
(4 U B)=1{2,3,4,7,8,9,12, 14} 7=((B-4) n (B-C)={area3})
A N B= {2,3,4,7,8,9,12, 14} .8=(A’ N C= {area3, area8 })
(4—-B)'=1{2,3,4,5,6,7,8,9,11, 12, 13, 14} L .9=(4 n (B-C) = {area6, area7, area8}) |
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Set0l Answers for No.11736

areal = {0,4,5}

rea2= {10} n(4d N B)=1 n(4 U B)=8
Am1:.1:£m;;f5 280y 27| MA=B)=3 n(U=(4 L B)=3
aread={3.6.7) n(B-A4)=4 Math@MUT
area! =2{il,{151,8129,}16} WA A BY=3  n(Ad U B)=7
Ans2=| .1= “’e;re;3_’{ 4 2= n(4-B)=4 n(U-(4 U B))=7
aread = {6,7,10, 13, 14, 15, 17} n(B-4)=0 Math@MUT
[ [ areal = {12,17} i )
area? = {10, 14} n(intersect(4, B, C)) =1 n(d-B)=4
area3 ={ } n(union(4, B, C)) =10 n(B-4)=0
I aread = {11,16} 5 n(d N B)=3 n(C N (4 U B))=3
mI= AT areas = {4} e = n(B A C)=1 n(C U (4 N B))=8
areab = { } n(4 v C)=10 n(intersect(4, B, C)) = 18
area7 ={1,3,18} n(B U C)=8 Math@MUT
L larea8=1{0,2,5,6,7,8,9,13,15}] ]
AU B=1{1,4,6,7,8910,11,12} | I d=(A4 N B={area2})
- AN B={712} 2=(A'-B={aread})
AU B={0,1,23,4,567,1011,12} 3=(4 N B'={aread})
B A=1{809} 4=(B n C={area5, areab })
Ans4 = A-B=1{1,4,6,10,11} , Ans5 = S=(A4 n (B U C)={area2, area4, area$ })

B -4=1{0,2,3,5}
(4 U B)=1{0,2,3,5}
A4~ B'={0,2,3,5}

6=((A4 N B) U (4 N C)={area2, area4, area’ })
7=((A4-B) U (A-C)={areal, area2, aread })
.8=(A’ N C= {area3, area8})

| (4-B)=1{0,2,3,5,7,8,9,12} | L 9=(B N (4-C) ={aread, area’, area8}) |
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Set0l Answers for No.12111

areal = {2,7,8}
area? = {11}
area3 ={3,5,9,10,12} [~
area4 = {4, 6,13}
areal = {4,5,7,12, 14,15, 16}
areal ={ }

n(d N B)=1 n(4 v B)=9
2= n(4-B)=3 n(U-(4 v B))=3
n(B-4)=>5 Math@MUT

Ansl =| .1 =

n(4 N B)=0 n(4 U B)=11

Ans2=|.1= ,.2=| n(4-B)=7 n(U-(4 U B))=4
ooy LR
[ areal = {5,6,12} ] . 1
area2 = {11} n(intersect(4, B, C)) =1 n(4-B)=5
area3 = {4, 14} n(union(4, B, C)) =10 n(B-4)=3
nsi=| 1= aread4 = {8, 13} e n(4d N B)=2 n(C n (4 v B))=4
area5 = {10} ’ n(BnN C)=2 n(C v (4 N B))=5
areab = {3} n(4 v C)=8 n(intersect(4, B, C)') =14
area7 = { } L n(Bu C)=7 Math@MUT
L Larea8={1,2,7,9,15}] ]
AU B=1{3,4,56,10,11} | I 1 =(A'= {area3, aread’}) 1
AN B={4} 2=(B'-A={aread})
40 B={12, 3; 4,6,7,8,9,10,12} 3=0(4 n B)': {areal, area3, area4})
B nA4={511} 4= (B = {areal, area4, area7, area8})
Ansd = 4-B=1{3,6,10} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areas, area6 })
B'-A4={1,2,7,8,9,12} 6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areat } )
(4 U B)=1{1,2,7,8,9,12} 7=((C-A4) n (C-B)={area7})
A4 N B={1,2,7,8,9 12} 8=(A'— B = {area3, area6})
_(A—B),={1,2,4,5,7, 8,9,11,12} | L .9:((B—A),—C:{area],areaZ,area8}) i
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Set0l Answers for No.12116
areal = {2}

area? = {4, 6, 10} n(4 ~ B)=3  n(4uUB)=7

Ansl =| .1 = ,.2=| n(4-B)=1 n(U-(4 v B))=5
arez};ei3{;),{3l,’5%,79, }1 1} n(B-4)=3 Math@MUT
areal = {2} n(d N B)=3 n(duU B)=6
Ans2=| .1 = ”r;f;;fz’glol’llf} L 2=| n(4-B)=1 n(U-(4 U B))=8
aread = {1,3,4,5,6,9, 12, 14} n(B-4)=2 Math@MUT
[ areal = {5,15} ] i
area? = { } n(intersect(A4, B, C)) =3 n(4-B)=4
area3 = {4,9} n(union(4, B, C)) =10 n(B-4)=2
ansi<| 12 area4d={7,10} e n(4d N B)=3 n(C N (4 U B))=5
area5 ={2,6,17} ’ nB N C)=3 n(C U (4 N B))=6
areab = { } n(4 v C)=8 n(intersect(A4, B, C)'): 13
area7 = {14} n(Bu C)=8 Math@MUT
L Larea8 = {3,8, 11,12, 13,16} | J
(4 U B=1{2,3,4,5,7,8,9,10,11, 13} | I 1=(4 N B={area2}) 1
40 B={245} 2=(B-A'={area2})
4w B=1{23,4,5,6709,12; 3=(4" U B ={areal, area3, aread})
B~ A'={810,11,13} 4=(4 N C= {aread, area5})
Ans4 = A-B=13,7,9} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B —A= {6,12} 6=((4 v B) n (B v C)={area2, area3, aread, area’s, area6 })
(4 U B)=1{6,12} 7=((C=4) N (C-B)={area?})
A~ B={612} 8=(A4—C = {areab, area7})
_(A—B)':{2,4, 5,6,8,10, 11,12, 13} ] L .9:((C—B)/—A:{area3, area6, area8 }) ]
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Set0l Answers for No.12179
areal = {12, 13}

area? = {2} n(4d N B)=1 n(d U B)=6

Ansl =| .1 = area3 = 16,7, 14 ,.2=| n(4-B)=2 n(U-(4 U B))=7
aread = {3,4,{5, 8,9, 1};), 1y n(B-4)=3 Math@MUT
areal = {7,10, 11,12} N4~ B)=1 n(A4 U B)=10
Ans2=| 1= area;’f‘;i;!{gg}! 14y [ 2= BA-B)=4 n(U=(4 L B)=1
areat— {8} n(B-A4)=5 Math@MUT
[ [ areal=1{6,7,14,16} | |
area? = {13} n(intersect(4, B, C))=0 n(4d-B)=5
area3 ={4,9,15} n(union(4, B, C)) =11 n(B-4)=4
Ansie| 12 aread = {17} . n(4d N B)=1 n(C N (4 v B))=2
area’ = { } i n(B N C)=1 n(C U (4 N B))=4
area6 = {12} n(d v C)=8 n(intersect(4, B, C)) =16
area7 = {3} n(Bu C)=7 Math@MUT
L Larea8 = {2,5,8,10, 11} ]
AV B=1{3,4,6,8,10,12,14,16} ] [ 1 =(B = {areal, aread}) 1
, AN B=1{12} 2=(B-A'={area2})
A U B={35,6, 7? 9,10, 11,12, 13, 14,15} .3:(14' U B = {areal, area3, aread })
B N A4={438,16} 4= (C,= {areal, area2, area3, area8 })
Ans4 = A4-B=13,6,10,14} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areas, area6 })
B'-A4={571,9,11,13,15} 6=((4 v B) n (B v C)={area2, area3, aread, area’, area6 } )
(4 v B)’: {5,7,9,11, 13,15} J=((B-4) u (B-C)={area2, area3, areab })
A~ B={570911,13 15} 8=(4 N C={area3, area8})
L (A—B),:{4, 5,7,8,9,11,12,13, 15,16} | L ,9=((A—B)’—C={area2, area3, area8}) J
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Set0l Answers for No.12324

[Page 0022]

Ans4 =

areal = {5,9, 14} (4 A B)=3  n(4uU B)=6
Ansl =| .1= arezi;;f,g,}m 2= n(4-B)=3 n(U-(4 U B))=6
| lareas=14,8,10,11,13,153] - MB-A=0 Math@MUT |
areal = {7,13,15} _n(Ar\B)zo n(A U B)=9
Ans2=| 1= areaZ={ } ,2=| n(4-B)=3 n(U-(4 U B))=6
area3=1{4,5,6,9,10,16} n(B—A)=6 Math@MUT
L Laread = {3, 8, 11,12, 14, 17 } | - ]
[ i areal = {15} ] ]
area = { } [n(intersect(4, B, C))=0 n(4d-B)=3
area3 =1{2,4,9,11,13} n(union(4, B, C))=10 n(B-4)=5
P aread = {10, 12} 5 n(4 N B)=0 n(C A (40U B))=2
' areas=1{ } o n(B N C)=0 n(CuU (4 n B))=4
area6 = { } nd u C)=5 n(intersect(4, B, C)) =18
area7 ={1,5} L n(Bu C)=9 Math@MUT
| larea8=1{0,3,6,7,8, 14, 16, 17} |
4V B={1,2,4,5,6813} 1 =(B = {areal, aread})
' 4 N B={413} 2=(B-A={area3})
4w B={0,234, §, 7,8,9,10,11, 12,13 } 3=((4 n B) = {areal, area3, area4})
B nA4={L15} .4:(C’= {areal, area2, area3, aread8 })
A4-B={2,6,8} , Ans5 = S=(A4 n (B v C)={area2, aread, area5 })

B -4=1{0,3,7,9,10, 11, 12}
(4 U B)=1{0,3,7,9,10, 11, 12}
4 n B'={0,3,7,9,10, 11,12}

L (4-B)=1{0,1,3,4,5,7,9,10,11, 12, 13} |

06=((4 N B) U (4 n C)={areal, area4, area5 })
7=((A4-B) U (4A-C)={areal, area2, aread })
8=(4 n C= {area3, area8})
9=((4 —B)’— C= {area$, areab, area?7})
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Set0l Answers for No.13087

areal = {6}

area2=1{7,10} n(4d N B)=2 n(d U B)=7

Ansl =| .1 = ,.2=| n(d-B)=1 n(U-(4 U B))=4
Z:sz - i(l) i i zi n(B-A)=4 Math@MUT
areal = {7,10, 11} n(A A B)=0 n(A U B)=S8
Ans2=| 1= area3f§ai§,{6,}9, 1y b2=| 4-B)=3 n(U-(4 U B))=6
aread = 2,3, 8, 13, 14, 15} n(B-4)=3 Math@MuT
[ areal = {5,6} ] T
area? = {9} n(intersect(4, B, C)) =0 n(4A-B)=2
area3 = {0, 11,13, 14} n(union(4, B, C)) =11 n(B-A4)=5
ansi<| 1< aread = { } - n(4d N B)=1 n(C n (4 v B))=1
area’ = { } n(BnNnC)=1 n(Cu (4 nB))=5
area6= {12} nd U C)=7 n(intersect(4, B, C) )= 15
area7 ={4,7,8} n(Bu C)=9 Math@MUT
L L area8=1{1,2,3,10} | ]
4w B=1{0,1,2,3,4,516,7,8,10} [ 1 =(A4'={area3, aread}) 1
4(\3:{07477} 2=(4-B'={area2})
AUB:{032,3,4,6,7,8,9} 3=((4 U B) = {aread})
B nA4={1510} 4=(B v C={area2, area3, aread, areal, areab, area7 })
Ans4 = A4-B={2,3,6,8} , Ans5 = S=(B N (4 v C)={area2, areal, areab})
B —A4=1{9} 6=((4 n B) U (B n C)={area2, areas, area6})
(4 v B)’:{9} 7=((C—-4) v (C-B)={area4, areab, area7 })
A N B= {9} .8:(A' U C= {areal, area2, area3, areab, area7, aread } )
Ll (4-B)=1{0,1,4,5,7,9,10} | L 9=(4 n (C-B) = {areal, area2, area5}) ]
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Set0l Answers for No.13339
”re”[r:fj{lg’}m nd N B)=1  n(4 U B)=6
Ansl =| 1= a:eZ§—_{4 6 2= n(4-B)=3 n(U-(4 U B))=7
aread=1{1,2,3,7,8, 11,12} n(B-4)=2 Math@MUT
“realzz{f’{;’ ?;1}1} n(4 N B)=2  n(du B)=7
Ans2=| .1 = “rjfea;_{’s} 2= n(4-B)=4 n(U-(4 U B))=5
aread = {4, 8,10, 12, 13} n(B-4)=1 Math@MUT
i areal = {6} i 1
area2={7,10} n(intersect(4, B, C))=0 n(4-B)=3
area3 =1{2,5,9,12} n(union(4, B, C)) =11 n(B-A4)=5
nszo| po| areat=14.15} 5 n(d N B)=2 n(C N (4 U B))=3
ol areas={ } T n(B N C)=1 n(C U (4 N B))=6
area6 = {13} ndu C)=7 n(intersect(4, B, C)) = 15
area7 = {8} n(Bu C)=10 Math@MUT
L Larea8 = {1, 3,11, 14} | ]

I d=(4'= {area3, area4})

.2:(A,—B: {aread})

3=(4 n B'={aread})
4=(B v C={area2, area3, area4, area’, areab, area7})
S5=(C v (4 n B)={area2, area4, area$, areab, area?7})

AU B={1,2,3,4,56,7,10}
AN B={4}
AU B=1{2406280911}
BN A={1,3,5710}
A-B=1{2,6} , Ans5 =

Ans4 =
B-A= {8,9,11} 6=((4 v C) n (B v C)={area2, aread, areas, areab, area?7 } )
(4 v B)’: {8,9,11} 7=((C—-4) v (C-B)={area4, areab, area7 })
A~ B={80911} 8=(A - B = {area3, area6})
9=((4-B) - C={area2, area3, area8}) ]

[(A-B)=11,3,4,5,7,8,9,10, 11} L
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢
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Set0l Answers for No.13340

[Page = 0025]

‘”“”r: {23;5{’69; 12} nd A B)=1  n(4duU B)=7
Ansl =| .1 = ajeZ§—_{4 7y e nA-B)=4 m(U=(4 L B)=S
aread = {1,2,8,10, 11} n(B-4)=2 Math@MUT ] |
””eglf{ilfl}} n(4 A B)=2  n(4 U B)=5
Ans2=| .1 = “::e"aj‘_{é 7 2= n(4-B)=1 n(U-(4 U B))=6
aread = {3,5,8,9, 10, 13} n(B-4)=2 Math@MUT
i areal = {8, 10} ]
area? = {2,5} n(intersect(4, B, C)) =1 n(4-B)=2
area3 ={1,6,9, 11} n(union(4, B, C)) = 12 n(B-A)=4
ns3=| 17— aread = { } P n(4d N B)=3 n(C N ((4uvB))=1
=T areas=1{7} Pl = n(B n C)=1 n(C U (4 N B))=6
areab = { } n(d v C)=8 n(intersect(4, B, C) )= 16
area7 = {0, 12,15} n(Bu C)=10 Math@MUT
L Larea8 = {3,4,13, 14,16} |
AU B=1{4,508,9,10,11,12,15} r 1= (B = {areal. aread})

AN B=1{10,12}

2=(B-A={area3})

Ans4 =

AU B={3,4,678,10,11,12,13, 14,15}
B A={509}
A—B={4,8,11,15}

B —A4=1{3,6,7,13, 14}

(4 U B)=1{3,6,7,13,14}

A~ B={3,6713 14}
(4-B)={3,5,6,7,9,10,12,13, 14}

, Ans5 =

3=((A-B) U (B-A)={areal,area3})
4= (B’: {areal, aread, area7, aread })
S=(B N (4 v C)={area2, areal, areat })
6=((4 N B) U (B n C)={area2, areas, areab})
7=((C-4) v (C-B)={area4, areab, area7 })
,8=(C’—A’:{area1, areal })
9=((4 —B)'— C={area2, area3, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13350

[Page = 0026]

Ans4 =

areal = {3,5,7,11}

(4 U B=10,2,3,4,5,6,8,9,10,11, 12} |
AN B={312}

AU B=1{1,2,3,4,571709,10,12}
BN A4={0628 11}
A-B=1{2,4,5,9,10}

B-A={1,7}
(40U B)={1,7}
A nB={1,7

(4-B)=10,1,3,6,7,8,11, 12}

>

v nd N B)=2  n(du B)=8
Ansl =| 1= Z;ZZ?:S }gi 2= n(4-B)=4 n(U-(4 U B))=3
arend= 14,8,9) n(B-A)=2 Math@MUT
“rgaf;{g’ T’291}4} n(4d N B)=4  n(4 U B)=7
Ans2=| .1=| a;ea3’_’{ ; ,.2=| n(4-B)=3 n(U-(4 U B))=5
aread = {6, 10,11, 13, 15} n(8-4)=0 Math@MUT
[ areal = {2,5} |
area2 = {8,10} n(intersect(4, B, C)) =1 n(4-B)=3
area3 = {0} n(union(4, B, C)) = 12 n(B-A)=2
P aread = {7} 5 n(d N B)=3 n(C N (4 U B)=3
IEEEN greas=1{13) P07 n(B N C)=2 n(C U (4 A B))=9
areab = {12} n(4 v C)=11 n(intersect(4, B, C)) = 14
area7 ={1,6,11, 14} n(B v C)=10 Math@MUT
L area8=1{3,4,9} ]

AnsS =

A=(4 N B={areal})
2=(B-A'={area2})
3=(4 N B ={aread})
4= (A,= {area3, areab, area7, area8 })
S=(A4 n (B v C)={area2, aread, areal })
O6=((4 N B) U (4 n C)={areal, area4, areal })
J=((B—-4) v (B-C)={area2, area3, areab })
8=(4 N B'= {area7, area8 })
9=(4 N (B-C) = {areal, aread, area5})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Ans4 =

[Page = 0027]

areal = {6,11,13}

n(4d N B)=3 n(4d v B)=38
Ansl =| 1= a;f:js:—{{sfz&1l40}} L 2=| n(4-B)=3 n(U-(4 U B))=3
area4; (4, ’7,9} n(B-4)=2 Math@MUT
areal ={4,7, 13} n(d n B)=2 n(4uU B)=10
Ans2=| .1 = area‘;rz“f;é,gg”llol}; 12y 2= nA4=B)=3 n(U-(4 L B)=3
areat— (3,3, 14) nB-A)=5 Math@MUT
i areal = {5,6} ) |
area2 = {10, 11} n(intersect(A4, B, C))=0 n(d-B)=5
area3 = {14} n(union(4, B, C)) =11 n(B-—A4)=2
Ans3e| 12 aread ={1,2,15} . n(4d N B)=2 n(C N (4 v B))=4
area’ = { } i n(B N C)=1 n(Cu (4 nB))=8
area6 = {16} n(4 u C)=10 n(intersect(4, B, C)) =16
area7 = {4,9} n(Bu C)=9 Math@MUT
L Larea8 = {3,7,8,12, 13 }] ]
AV B=1{3,4,5,6,9,11,13,14,16} i 1=(A v B={areal, area2, area3})
, A N B={14} 2=(A'-B={aread})
4V B={3,4,57, 8? 9,10, 11,12, 14,15, 16 } 3=((4 n B)'= {areal, area3, area4})
B nA4={6,13} 4= (C,= {areal, area2, area3, area8 })
A4-B=1{3,4,59,11,16} , Ans5= S=(B v (4 n C)={area, area3, area4, areas, area6 })
B —A4=1{7,8,10,12,15} 6=((4 v B) n (B v C)={area2, area3, area4, area’, area6 } )
(4 U B)=1{7,8,10,12,15} 7=((C—-4) n (C-B)={area’})
A~ B'={7,8,10, 12,15} 8=(B - C = {aread, area’7})
(A-B)=1{6,7,8,10, 12, 13, 14,15}

9=((B-C) —A = {areal, aread, area5})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13363

areal = {3,4,5,7}

area— {10} n4 n B)=1 n(4 U B)=7
Ansl =| .1 = area3 = (6,13} ,.2=| n(d-B)=4 n(U-(4 U B))=5
aread = 12,8,9, 11,12} n(B-4)=2 Math@MUT
areal = {1,5,9} n(4 N B)=3 n(4 U B)=10
Ans2=| .1 = afer;;’z:{{276lfolif} 2=| n(4-B)=3 n(U—(4 U B))=4
aread = (3.4, 8,14} n(B-A4)=4 Math@MUT |
[ [ areal = {15} ) i
area? = {4} n(intersect(4, B, C)) =1 n(4d-B)=3
area3 = {3} n(union(4, B, C))=9 nB-A4)=1
ns3=| 12 aread = {2,7} . n(4d N B)=2 n(C N (4 v B))=3
aread = {9} i n(B N C)=1 n(Cu (4 nB)=7
area6={ } n(d4d U C)=8 n(intersect(4, B, C)) = 15
area7 ={5,6,8} n(B U C)=8 Math@MUT
L Larea8 = {0, 1,10, 11, 12, 13, 14 } | ]
A v B={0,4,5,6,8,10,11,12,13} ] i 1=(4 N B={area2}) 1
, 4N B={4} 2=(A-B'={area2})
4w B={0,1,23,4,6,7,8,9,10,12,13, 14} 3=0(4 n B)': {areal, area3, area4})
B A={511} A4=(B n C={area’, areab})
4-B=1{0,6,8,10,12,13} , AnsS = S5=(C n (A v B)={aread, area5, area6 })
B -A= {1,2,3,7,9, 14} 6=((4 N C) v (B n C)={aread, area’, areat })
(4 U B)=1{1,2,3,7,9, 14} 7=((B-4) n (B-C)={area3})
A N B = {1,2,3,7,9, 14} .8=(A' U B'= {areal, area3, aread, areab, area7, area8 })
L (A—B)':{1,2, 3,4,5,7,9,11, 14} ] L .9:((B—A)/—C:{areal,areaZ,areaS}) ]

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13396

areal = {4}

areaZ= {6,711} n(4 ~ B)=3  n(4uUB)=7

Ansl =| .1 = 2= n(4-B)=1 n(U-(4 U B))=5
area3 ={0,5,9} B
aread={1,2,3,8,10} n(B-4)=3 Math@MUT
“’ezaf:{f; 51}5} n(d N B)=3  n(4d U B)=9
Ans2=| 1= areas =14 1 2= n(4-B)=2 n(U-(4 U B))=6

area3 ={12,13,14,17}

aread = 16,8,9,10, 11, 16} n(B-A)=4 Math@MuT
[ areal = {7,14} | i
area? = { 11,12} n(intersect(A4, B, C))=0 n(d-B)=4
area3 = {4,6} n(union(4, B, C)) =9 n(B-A4)=2
3| go| aread={10.15} | n(d N B)=2 n(C N (4 U B))=2
' areas=1{ } . n(B N C)=0 n(Cu (4 n B))=5
area6 = { } ndu C)=7 n(intersect(4, B, C)) = 13
area7 = {3} n(Bu C)=7 Math@MUT
L Larea8 = {5,8,9, 13 }] ]
AU B={4,518,9,10,11,13, 14} 1= (4= {area3, aread})
4N B={509,13} 2=(A-B=/{areal})

AU B'=1{4,56,7,89 11,1213}

3= (A' U B'= {areal, area3, area4 })
B N A4={10,14}

4= (C,= {areal, area2, area3, area8 })

Ans4 = A-B=1{4,8,11} , Ans5 = S5=(4 n (B v C)={area2, aread, area5})
B’—A:{6, 7,12} 6=((A4 N B) U (4 n C)={areal, area4, areal })
(4 U B)=1{6,7,12} 7=((C-A4) n (C=B)={area7})
A N B={6712} 8=(4 ~ B ={area’7, area8})
L(4-B)=1{5,6,7,9,10,12,13, 14} | L 9=((B-A4)-C ={aread, area5, area7}) |
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Set0l Answers for No.13406

“re“fl;j;’_“{’ 9}’ 12} n(4 A B)=0  n(4 U B)=10
Ansl =| .1 = _ ,.2=| n(4-B)=4 n(U-(4 U B))=2
area3 =1{5,6,7,10,11, 13} _
I | aread = {8, 14} ] L n(B-A4)=6 Math@MUT 4]
“r;fl{zs {1102}13} (4 A B)=3  n(4 U B)=7
Ans2=| .1 = ”Zza;_{; 8.9} 2=| n(4-B)=1 n(U-(4 U B))=6
| laread=13,6,7, 11,1415}  -nB-A=3 Math@MUT 1|
[ [ areal = {13} i l
areal = {8} n(intersect(4, B, C)) =1 n(4-B)=2
area3 = {4,5,9} n(union(4, B, C)) =10 n(B-A4)=5
nsi<| 12 aread = {15} . n(d N B)=2 n(C N (4 U B))=4
mI=AE areas = {7} ol = n(B N C)=3 n(C U (4 N B))=6
area6={3,16} nd u C)=7 n(intersect(4, B, C)) =15
area7 = {12} n(Bu C)=9 Math@MUT
L Larea8 = {2, 6,10, 11, 14, 17 } | ]
4V B={3,47,8,9,10,12} I 1 =(A4'={area3, aread}) 1
/ AN B=1{4,89} 2=(B —A={aread})
A v B={2345,6,7,8,9,10,11,12,13} 3=((4 U B) = {aread})
BnAd={} 4=(4 n C={aread, aread})
Ans4 = A-B=1{3,7,10,12} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area5, area6 })

B -A4=1{2,5,6,11,13}
(4 U B)=1{2,5,6,11,13}
A N B={25,61113}

X [Page = 0030]

(A-B)=1{2,4,5,6,8,9,11,13}

6=((4 v B) n (4 v C)={areal, area2, aread, area’, area6 })
7=((B—-A4) v (B-C)={area2, area3, areab })
8= (A' U C= {areal, area2, area3, areab, area7, areas8})

9=(4" N (C-B) = {area3, areab, area8}) |

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.13433

areal = {5,7,10, 14, 15} - )
area2 = {4} n(4 N B)=1 n(4d U B)=9

Ansl =| .1 = ,.2=| n(4-B)=5 n(U-(4 v B))=3
area3 = {8, 11,12} B
aread = {6,9, 13} n(B-4)=3 Math@MUT
areal = {4, 5, 14}

area?= (3. 6.8) n(d N B)=3  n(4 U B)=6

Ans2=| .1 = area3—{ } ,.2=| n(4-B)=3 n(U-(4 U B))=17
aread = {7,9,10,11,12, 13,15} n(8-4)=0 Math@MUT
[ areal = {5,15,16} | i
area2 = {14} [n(intersect(4, B, C)) =1 n(4-B)=3
area3 =1{2,3,12} n(union(4, B, C)) = 10 n(B-A)=4
s3] 1 aread=1{ } 5 n(d N B)=2 n(C N (4 U B))=2
' aread = {9} . n(B N C)=2 n(CuU (4 n B))=4
area6= {17} nd u C)=7 n(intersect(4, B, C) )= 15
area7 = {4} L nBu C)=7 Math@MUT
Larea8 ={6,7,8,10, 11, 13} | ]

[ 4 U B={2,3,4,58,9,10,11,13,15} | [ 1 =(A = {area3, aread}) ]
/ 40 B={8} 2=(A4-B'={area2})
4V B=1{4,67810,11,12, 14} 3=((4-B) U (B—A)={areal, area3})
B nA4={235091315} 4= (B = {areal, area4, area’7, area8})
Ans4 = A-B={4,10,11} , Ans5= S=(4 v (B n C)={areal, areal, aread, areas, area6 })
B -A= {6,7,12,14} 6=((4 v B) n (4 v C)={areal, area?, aread, area’, areat6 })
(4 v B)’: {6,7,12, 14} 7=((C-4) v (C-B)={area4, areab, area7 })
A N B'=1{6712 14} 8=(4 n C={area3, area8})
[(A-B)=1{2,3,5,6,7,8,9,12,13, 14,15} L 9=(B n (A-C) = {aread, area7, area8 }) ]
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Set0l Answers for No.13473
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Ans4 =

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKX XXX KX KXXKX XXX KK KX KKK KKK LXK KXXKXKXX KKK XK XKL KK LXK XXX KKK XK XXX K XXX XXX KK KKK KKXKKKKKMA /2-6600101-00032XX

“:eaéjg’ﬁi n(4d N B)=2  n(4 U B)=8
Ansl =| 1= ar:aga_ {‘4 5711027 MA-BI=2 a(U-(4 U B))=3
aread = (8. 10, 131 n(B-A)=4 Math@MUT
areal = {556,’;?’11}2’ 13} n(d N B)=1 n(4 U B)=8
Ans2=| 1= a":;“j_‘H 7 2=l n(4-B)=5 n(U-(4 U B))=4
aread= (2.3 8.9} n(B-A)=2 Math@MUT
[ areal = {18} ] 1
area2 = {12} n(intersect(4, B, C))=0 n(4d-B)=3
area3 = {11,13} n(union(4, B, C)) =11 nB-A4)=5
3| g | areat=110.153 | n(4d N B)=1 n(C N (4 U B))=5
WIEIEL geas=( )y T n(B N C)=3 n(C U (4 N B))=8
area6 = {6,8, 14} n(d4d U C)=9 n(intersect(4, B, C) ) =15
area7 = {4,16} n(Bu C)=10 Math@MUT
L Larea8 ={5,7,9,17 }] i

(4 U B={4,6,8,10, 11,12, 13, 14, 15, 16, 18 } |
AN B={14}
A U B'=1{4,5,7,9,10, 14,16, 17, 18}
BN A={62811,12,13,15}

A-B=1{4,10,16,18} i
B'—A4=1{57,9,17}
(4 U B)=1{57,9,17}
A N B={570917}

Ans5 =

L (A4-B)=1{5,6,7,8,9,11,12,13, 14, 15,17} |

A= (A': {area3, aread })
.2=(A'—B,= {area3})
3=((4-B) A (B-A)={ })
A4=(A n C={aread, area5})

S=(B v (4 n C)={area2, area3, aread, areal, area6 })
6=((4 U B) nn (B v C)={areal, area3, area4, areal, area6 })
7=((B-4) v (B-C)={area2, area3, area6})

.8=(B’ N C= {areal, area8})

.9:((B—C)'—A: {areab, area7, area8}) ]

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



Set0l Answers for No.13485

Ans4 =

X [Page = 0033]

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢

”m’]:{;’_s’ 11,12} nd N B)=0  n(du B)=7
Ansl =| 1= ar;r;‘i {‘3’{6,}9} 2= n(4-B)=4 n(U-(4 U B))=6
aread = {0, 1,4,7,8, 10} n(B-4)=3 Math@MUT
areal = {3, 12} nd N B)=1 n(du B)=8
Ans2=| .1 = area2 = {11} L 2=| n(4-B)=2 n(U-(4 U B))=6
area3 ={1,2,4,6, 10} n(B-A4)=5 Math@MUT
area4=1{3,7,8,9,13, 14}
[ [areal = {10, 15, 16, 18] l
area = { } n(intersect(4, B, C)) =0 n(4d-B)=7
area3 = {8,13, 14} n(union(4, B, C)) =13 nB-A4)=3
imss| | areat=13,4.9} S n(d N B)=0 n(C A (4 U B))=3
' area5=1{} - n(B N C)=0 n(C U (4 N B))=6
areab = { } n(4 v C)=10 n(intersect(A4, B, C)'):l7
area7 = {2, 11,17} n(B v C)=9 Math@MUT

L L area8=1{5,6,7,12} |
AU B=1{6,7,8,9,14,16,17,18}
AN B={16}
AU B=1{4,506,7,810,11,12,13,15,16,17, 18}
B A={9, 14}
A-B=1{6,7,8,17,18} i
B —A=1{4,510,11,12,13,15}
(4 U B)=1{4,510,11,12,13,15}
A N B'={4,51011,12,13,15}
(A-B)'=1{4,59,10,11,12,13,14,15,16} |

Ans5 =

A= (A’= {area3, aread })
.2=(B—A'= {areal })
3=((4-B) n (B-4)={})
4=(4 v C={areal, areal, area4, areal, areab, area7 })
S=(4 v (B n C)={areal, areal, aread, area5, area6 })
6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areat } )
7=((B—-4) U (B-C)={areal, area3, areab })
8= (B’ U C= {areal, area?, area3, aread, area7, area8 } )
9=((B —A)’— C={areal, area2, area8})
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Set0l Answers for No.14126

areal = {9,12,13,15}

area? ={ } n(4d N B)=0 n(4d v B)=7

aread = {4,5,7,8,10, 11} - a
“’Z“f?jslz} n(d N B)=2 n(4du B)=7
Ans2=|.1=| T ,2=| n(4-B)=1 n(U-(4 U B))=5

area3 =1{6,8,9,11}

aread = {1,2,3,7,12} n(B-4)=4 Math@MUT
[ areal = {9,13} | i
area? = {3,5} n(intersect(A4, B, C))=0 n(4d-B)=3
area3 ={1,6,7,12} n(union(4, B, C)) =11 n(B-A4)=5
ansi<| 12 aread = {4} . n(d N B)=2 n(C N (4 U B))=2
' area5={ } a nBn C)=1 n(C u (4 n B))=5
area6 = {11} ndu C)=7 n(intersect(4, B, C)) = 14
area7 = {14} n(Bu C)=9 Math@MUT
L L area8=1{2,8,10} | ]
4 U B=1{1,2,3,5,6,7,8,9,10,13,14} | r I=(4 N B={area2}) 7
AnB={} 2=(A-B={areal })
4V B=1l23456,10,11,12} 3=(4" U B ={areal, area3, aread})
B A={57891314} A4=(A4 N B={area2, area5})
Ansd = A-B={1,2,3,6,10} . AnsS = S=(4 v (B n C)={areal, areal, aread, areal, area6 } )
B-A= {4,11,12} 6=((4 v B) N (4 v C)={areal, area?, area4, areas, area6 })
(4 U B)=1{4,11,12} 7=((B-4) n (B-C)={area3})
A N B'={4,11, 12} .8:(B,r\ C’:{areal,area(?})
| (4-B)'=14,5,7,8,9,11, 12,13, 14} | L 9=(B n (C-4) = {areal, aread, area8 }) |
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Set0l Answers for No.14148

[Page 0035]

areal = {5,7,10}

n(d N B)=2 n(4 U B)=6
Ansl =| 1= “;:“53:_{{31’19}} 2= n(4-B)=3 n(U-(4 U B))=6
aread :e{o,_l,z, 46,8} n(B-4)=1 Math@MUT
areal = {4, 10} n(d N B)=1 n(4du B)=8
Ans2=| 1= area;‘:”{“g;,{glil}‘z, 4y [ 27| MA-BI=2 (U= (4 U B))=T
aread = {3, 6,8, 11,13, 15,16} n(B-4)=35 Math@MUT
[ areal = {11,13} ] ]
area? = { } n(intersect(4, B, C)) =1 n(4-B)=5
area3={5,6,8} n(union(4, B, C)) =12 n(B-A4)=3
nsi<| 1< aread = {4, 15,18} 2 n(4d N B)=1 n(C N (4 v B))=4
area5 = {19} ’ n(BnNnC)=1 n(Cu (4 n B)=7
areab = { } n(4 v C)=9 n(intersect(4, B, C)/): 16
area7 = {3, 14,17} n(B v C)=10 Math@MUT
L Larea8=1{7,9,10,12,16} | i
4V B={3,4,56,7,809,12} [ 1 =(A = {area3, aread})
, 4N B={49; 2=(B-A'={area2})
4 v B =145, 6} 7,8,9,10,11, 13} .3:(A' U B'= {areal, area3, area4})
B N A={312} 4=(A v B={areal, areal, area3, area4, area’, area6 })
Ans4 = A4-B={5,6,7,8} , Ans5 = S=(4 v (B n C)={areal, areal, aread, area5, area6 })

B —A4=1{10,11,13}
(4 U B)=1{10,11,13}
A~ B'={10, 11,13}
L (4-B)=1{3,4,9,10,11,12,13} |

O6=((4 v B) n (4 v C)={areal, area?, aread, area5, areat6 })
7=((C-4) n (C-B)={area7})

8= (B' U C= {areal, area2, area3, area4, area7, area8})

9=((B~-C) — A= {areab, area’, area8 })
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Set0l Answers for No.14313
areal ={2,7,11,13}

areal = {3} n(4 N B)=1 n(d v B)=7

Ansl =| .1 = ,.2=| n(4-B)=4 n(U-(4 v B))=5
are:;i“i; 28615} 0} n(B-A)=2 Math@MUT
areal = {7, 8} n(4 N B)=4  n(4 U B)=9
Ans2=| .1 = area2:3{_4j{§,;l,61}3} 2=| n(4-B)=2 n(U-(4 U B))=2
2:224; {10123 n(B-A4)=3 Math@MUT
[ areal = {12,16} ) i
area? = { } n(intersect(4, B, C)) =1 n(d-B)=2
area3 = {5,7,11} n(union(4, B, C)) =10 n(B-A4)=5
aread = { } n(4d N B)=1 n(C N (4 v B))=3
Ans3 =| .1 = , .2 =
aread = {2} n(B N C)=3 n(C v (4 nB))=5
area6 = {8, 15} ndu C)=7 n(intersect(4, B, C)) = 14
area7 = {6, 14} n(B U C)=8 Math@MUT
L Larea8 = {3,4,9, 10, 13} ]
AU B=1{2,3,4,6,9,10,11,12,13,16} | [ A=(A4 N B={area2}) )
4 n B={10} 2=(A-B={areal })
AU B'={2,506,738,9,10, 12, 13,14,15,16} 3=(4 N B'={aread})
Bnd= 134,11} 4= (A/: {area3, area6, area’, aread })
Ans4 = A-B=1{2,6,9,12,13,16} , AnsS = S5=(C v (A4 n B)={area2, area4, areas, areab, area?7 })
B -A= {5,7,8,14,15} 6=((4 v C) n (B C)={area2, area4, area5, areab, area7})
(4 v B)': {5,7,8,14,15} 7=((4-B) U (A-C)={areal, area2, area4})
A N B'=1{5717281415} 8=(C' - B = {area2, area3})
L (A—B)':{3,4, 5,7,8,10,11, 14,15} ] L .9:((C—B)'—A/:{area],areaZ,area5}) i
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Set0l Answers for No.14370

areal = {3,6,9}

area? = {7} n(4d N B)=1 n(4d U B)=6
Ansl =| .1 = area3 = {48 ,.2=| n(A-B)=3 n(U-(4 U B))=5
aread = {0,1,2,5,10} n(B-4)=2 Math@MUT
areal = {2, 15} n(d nB)=1  n(4 U B)=8
Ans2=| .1 = areal = {13} L 2=| n(4-B)=2 n(U-(4 U B))=6
area3=1{3,5,7,11,12} n(B-A)=5 Math@MUT
aread = {4,6,8,9, 10, 14}
[ [ areal = {10} ) ]
area? = {3,12} n(intersect(A4, B, C)) =0 n(4d-B)=2
area3 ={ } n(union(4, B, C))=8 n(B-A4)=1
aread = {1} n(4 N B)=2 n(C N (4 v B))=2
Ans3 =).1= areaS=1{ } 2=l aB A O)=1 n(C U (4 B))=1
area6= {7} n(d U C)=38 n(intersect(4, B, C) )= 17
area7 = {13, 14,16} n(B v C)=7 Math@MUT
L Larea8 = {2,4,5,6,8,9,11, 15,17} ] ]
AU B={2,3,67,10,12} [ 1=(4 N B={area2}) 1
- AnB={6} 2=(B - 4= {aread})
4 v B=1{145, §’ 7,8,9,10, 11,12} .3=(A' U B'= {areal, area3, area4})
B nA4={23} 4=(A v C={areal, area2, area4, area$, area6, area?7})
Ans4 = A-B=1{7,10,12} , AnsS = S=(A4 n (B v C)={area, aread, area5 })
B —A= {1,4,5,8,9,11} 6=((4 N B) U (4 n C)={area2, aread, aread})
(4 U B)=1{1,4,5,8,9,11} 7=((A-B) n (A-C)={areal})
A N B={1,4,580911} 8=(4'-C = {area6, area7})
L (A—B)': {1,2,3,4,5,6,8,9,11} | L 9=(C n (B—A)':{area4, areas, area7}) J
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Set0l Answers for No.14377

areal = {3,6,8,9,11}

area2 = {1} n(4 N B)=1 n(4 U B)=9

Ansl =| .1 = ,.2=| n(A-B)=5 n(U-(4 U B))=2
‘Z’fe"; - { {25”41° 07}} n(B-4)=3 Math@MUT
areal = 10,4,6,7} n(d N B)=2  n(4 U B)=8
Ans2=| 1= a“:eil“j:{{;’f;} 2| n(4-B)=4 n(U—(4 U B))=6
aread = 12,8,9,10, 11,121 n(B-4)=2 Math@MuT
[ [ areal = {3, 14} l ) ]
areal = {4} n(intersect(4, B, C)) =1 n(4d-B)=2
area3 ={ } n(union(4, B, C)) =8 n(B-A4)=1
ansi<| 1< aread = { } . n(4d N B)=2 n(C N (4 v B))=2
areas = {15} ’ n(B N C)=2 n(Cu (4 nB))=6
areab = {6} n(4 v C)=8 n(intersect( 4, B, C)') =15
area7 = {9, 10, 12} L n(Bu C)=6 Math@MUT
L Larea8=1{0,1,2,5,7,8, 11,13} ] ]
4 v B=1{1,2,3,5,6,8, 11,13} | I I=(4 v B={areal, area2, area3})
, AN B={1} 2=(A-B={area2})
4V B={1,47,8,9,10,11,12,13, 14,15} 3=((4 n B)'= {areal, area3, area4})
BﬁA'={2,3,5,6} 4=(4 n C={area4, area5})
Ans4 = A-B=1{8, 11,13} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B —A= {4,7,9,10,12, 14,15} 6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 })
(4 U B)=1{4,7,9,10,12,14,15} 7=((C-4) n (C-B)={area7})
A~ B'={4,7,9,10,12, 14,15} 8=(B U C = {areal, area2, area3, aread, area’, area8 })
[(4-B)=1{1,2,3,4,5,6,7,9, 10,12, 14, 15} | L 9=(C' N (4-B) = {area2, area3, area8 }) |
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Set0l Answers for No.14403

areal = {3,5,12, 14}

area? = { } n(4 N B)=0 n(4d U B)=9

Ansl =| 1= 2= n(4-B)=4 n(U-(4 U B))=4
area3 =1{2,6,9,10, 11} _
aread = (4,7, 8,13} n(B-4)=5 Math@MUT
area1:2{74j{22,91}5} n(d ~B)=2  n(4uU B)=9
Ans2=| 1= areas=1o, 2= n(4-B)=3 n(U-(4 U B))=5

area3 =1{3,8,10, 16}

aread = {5,7, 11, 13, 14} n(B-4)=4 Math@MUT
[ [ areal=1{4,5,6,8,16} | |
area = { } n(intersect(4, B, C)) =0 n(4A-B)=6
area3 = {10, 12,15} n(union(4, B, C)) =11 n(B-4)=4
ansi=| 12 aread = {2} . n(4d N B)=0 n(C N (4 U B))=2
' area5=1{} - n(B N C)=1 n(C U (4 n B))=3
areab = {7} n(4 v C)=8 n(intersect(A4, B, C)') =16
area7 = {9} n(Bu C)=6 Math@MUT
L Larea8 = {3, 11,13, 14,17 } | i
A v B={4,6,7,8,10,11,13} i 1=(4 N B={area2}) 1
/ AN B={411,13} 2=(A'-B={aread})
AV B=1{2,3,4,517,8,9,10,11,12,13, 14,15, 16} 3=((A-B) N (B-A)=1{1})
B A={6} 4= (B U C={area2, area3, aread, area5, areab, area7})
Ansd = A-B={7,8,10} . AnsS = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B-A= {2,3,5,9,12, 14,15, 16} 6=((4 v B) N (4 v C)={areal, area2, area4, areas, area6 })
(4 U B)=1{2,3,5,9,12, 14,15, 16} 7=((4-B) v (4-C)={areal, area2, aread})
A A B'=1{23,50912 14,15, 16} §=(B'-C'={aread, area7})
L (4-B)=1{2,3,4,56,9,11,12,13, 14,15, 16} | L 9=((C-4) - B ={area2, area3, area5 }) i
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Set0l Answers for No.14421
areal:ié’;’_l{l’}lz’ 14} n(d N B)=0 n(4uU B)=8
Ansl =| 1= areZ;f{; o.10; 2= MA-BI=5 a(U-(4 L B))=5
aread = (5,8, 13, 15, 16} n(B-4)=3 Math@MUT
“’6312{296}} n(d N B)=2  n(4uU B)=6
Ans2=| .1 = GZZ;‘_‘{Z Ygy p2=| =BT a(U-(4 U B))=5
aread = {1,5,8,10, 11} n(B-4)=3 Math@MUT
[ [ areal = { } i l
area = { } n(intersect(4, B, C)) =1 n(4d-B)=2
area3 ={9,17,18} n(union(4, B, C)) =10 n(B-4)=3
nsi=| 1= aread = {4, 15} I, n(4d N B)=1 n(C N (4 U B))=3
mI= AT areas=1{10} 4= n(B N C)=1 n(C U (4 N B))=7
area6 = { } nd v C)=7 n(intersect(4, B, C)) =17
area7 = {8,12, 13,20} n(Bu C)=10 Math@MUT
L Larea8 = {3,5,6,7,11,14,16,19} ]
AU B=1{3,58,9,11,14,15} I 1 =(B = {areal, aread}) |
, AN B={8,11} 2=(A-B={areal })
A v B={3,45,6,7,8,10,11,12,13, 14,15} 3=((A-B)n (B-A)={})
Bn A= {9} 4=(B v C={area2, area3, area4, area$, areab, area?7})
Ansd = A-B=1{3,514,15} | AnsS = S5=(C v (A4 n B)={area2, area4, areas, areab, area?7})
B-A= {4,6,7,10,12,13} 6=((4 v C) n (B vy C)={area2, aread, areas, areab, area?7 })
(4 U B)= {4,6,7,10,12,13} .7=((C-4) u (C-B)={area4, areab, area7 } )
A~ B={4,6,7,10,12,13} 8=(4 v B ={areal, area3, area4, area6, area7, area8 })
L (4-B)=1{4,6,7,8,9,10,11,12,13} | L 9=(B n (C-4) ={areal, aread, area8 } ) ]
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Set0l Answers for No.14430

areal = {5,9,12}
area? ={2,6}
area3 = {4,7,11, 13} [~
area4 = {3,8,10}
areal = {2,3,10, 12,16}
area? = {7, 14}

n4 ~ B)=2  n(4 U B)=9
2=| n(4-B)=3 n(U-(4 U B))=3
nB-A)=4 Math@MUT

Ansl =| .1 =

n(4d N B)=2 n(4 U B)=10

Ans2=|.1= ,.2=| n(d-B)=5 n(U-(4 U B))=5
are‘;:ff {;,{56” ;’ 1113, }1 5 n(B-A)=3 Math@MUT
[ [areal ={6,8,11,17}] T
area = {12} n(intersect(4, B, C))=0 n(4d-B)=5
area3 = {7,10, 15} n(union(4, B, C)) =12 n(B-A4)=6
ns3=| 12 aread = {4} . n(4d N B)=1 n(C N (4 v B))=4
area’ = { } i n(B N C)=3 n(Cu (4 nB))=5
areab = {13, 14,16} n(4d v C)=9 n(intersect(4, B, C)) = 14
area7 = { } n(B U C)=8 Math@MUT
L L area8=1{5,9} ]
A4V B=1{4,6,7,8,9,10,12,13,14,17} | [ 1 =(A v B={areal, area2, area3})
o A0 B={17} 2=(A'-B'={area3})
A v B={56711,13,15,16,17} 3=((4 v B)': {aread})
Bnd= {4,8,9,10, 12, 14} 4=(B v C={area2, area3, area4, area5, areab, area7 })
Ans4 = A-B=16,7,13} , Ans5 = S5=(C n (A v B)={aread, area5, area6 })
B -A= {5,11, 15,16} 6=((4 N C) v (B n C)={aread, area’, areab })
(4 U B)=1{511,1516} 7=((A-B) n (A-C)={areal })
A N B=1{511,1516} 8=(4" N B ={area’, area8})
[(4-B)=1{4,5,8,9,10, 11, 12, 14, 15, 16, 17} ] L 9=(C N (B-A4) = {areal, area2, areas8}) |
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Set0l Answers for No.12037
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Ans4 =

areal = {2,3,7}

n(d N B)=1 n(4 v B)=38
Ansl =| 1= area2 =19} 2= n(4-B)=3 n(U-(4 U B))=5
area3 = {5,10, 12, 14} n(B-A)=4 Math@MUT
area4 = {4,6,8,11,13}
“’e"éf{“’g} n(d N B)=2  n(4du B)=8
Ans2=| 1= arezr;i {‘15{275’8!}10} ,2=| n(4-B)=2 n(U-(4 U B))=3
areat = (0,3, 5} nB-A)=4 Math@MUT
[ [ areal = {6} i |
area? = {5, 14} n(intersect(4, B, C)) =1 n(4-B)=1
area3=1{2,7,8,15} n(union(4, B, C)) = 10 n(B-A)=4
P aread = { } S n(4 ~ B)=3 n(Cn (40U B)=1
' area5=1{0} e nB N C)=1 n(C U (4 N B))=5
areab = { } n(4 v C)=6 n(intersect(A4, B, C)'): 16
area7 = {4,12} n(Bu C)=9 Math@MUT
Larea8 = {1,3,9, 10, 11, 13, 16 } ]

AU B=1{6,7,8,9,12,15}
AN B={7,15}

AU B =1{4,57,89,10,11,12,13, 14, 15,16}
BN Ad={6}
A-B={8,9,12}
B'—A=1{4,510,11,13, 14,16}

(4 U B)=1{4,510,11,13, 14,16}
A~ B'=1{4,510, 11,13, 14,16}

AnsS =

>

(4-B)=1{4,5,6,7,10,11, 13, 14, 15, 16}

1 =(A4 v B={areal, area2, area3})
2=(A - B ={area3})
3=((4 U B) = {aread})
4=(B n C={areal, areab})
S=(B N (4 v C)={area2, area’, areab })
6=((4 N B) U (B n C)={areal, areas, areab })
J=((B-4) n (B-C)={area3})

8= (B’ U C= {areal, area?, area3, aread, area7, area8})

9=(B N (4- C)’: {area3, area5, area6 })
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